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\documentclass[UTF8]{ctexart}

\usepackage[paperwidth=128mm,paperheight=96mm,

  top=6mm,headsep=2mm,

  left=5mm,right=5mm,

  bottom=10mm,footskip=8mm]{geometry}

\usepackage{tikz}

\usepackage{listings}

\usetikzlibrary{decorations.pathmorphing}

\usetikzlibrary{decorations.footprints}

\usetikzlibrary{decorations.fractals}

\usetikzlibrary{lindenmayersystems}

\usetikzlibrary{fadings}

\usetikzlibrary{shadows}

\topmargin 10mm

\begin{document}

\newbox\mybox

\colorlet{mintgreen}{green!50!black!50}

\thispagestyle{empty}

\vbox{}\vfil\hfil

\begin{tikzpicture}[overlay]

\coordinate (front) at (0,0);

\coordinate (horizon) at (0,.31\paperheight);

\coordinate (bottom) at (0,-0.31\paperheight);

\coordinate (sky) at (0,.85\paperheight);

\coordinate (left) at (-.71\paperwidth,0);

\coordinate (right) at (.71\paperwidth,0);



\shade [bottom color=blue!30!black!10,top color=blue!30!black!50]

([yshift=-5mm]horizon -| left) rectangle (sky -| right);

\shade [bottom color=black!70!green!25,top color=black!70!green!10]

(front -| left) -- (horizon -| left)

decorate [decoration=random steps] { -- (horizon -| right) }

-- (front -| right) -- cycle;

\shade [top color=black!70!green!25,bottom color=black!25]

([yshift=-5mm-1pt]front -| left) rectangle ([yshift=1pt]front -| right);

\fill [black!25] (bottom -| left) rectangle ([yshift=-5mm]front -| right);



\def\nodeshadowed[#1]#2;{\node[scale=2,above,#1]{#2};\node[scale=2,above,#1,

yscale=-1,scope fading=south,opacity=0.4]{#2};}





\foreach \where in {-54mm,54mm} {

\nodeshadowed [at={(\where,2cm)}] {

\tikz

%\draw [green!20!black, rotate=90]

%[l-system={rule set={F -> FF-[-F+F]+[+F-F]}, axiom=F, order=4, step=1.2pt,

%randomize step percent=25, angle=30, randomize angle percent=5}]

%lindenmayer system;

\draw [green!20!black, rotate=90] l-system

[l-system={rule set={F -> FF-[-F+F]+[+F-F]},

axiom=F, order=4, angle=25,step=1.2pt}];

%\draw [green!20!black, rotate=90,

%l-system={rule set={F -> FF-[-F+F]+[+F-F]},

%axiom=F, order=4,step=1.5pt,

%randomize step percent=50, angle=30,

%randomize angle percent=5}] l-system;

};};



\foreach \i in {0.25,0.3,...,1}

\fill [white,decoration=Koch snowflake,opacity=.9]

[shift=(horizon),shift={(rand*11,rnd*7)},scale=\i]

[double copy shadow={opacity=0.2,shadow xshift=0pt,shadow

yshift=3*\i pt,fill=white,draw=none}]

decorate {

decorate {

decorate {

(0,0) -- ++(60:1) -- ++(-60:1) -- cycle

}

}

};

\nodeshadowed [at={( 0,2 )}] {\color{red!55!blue}\Large\LaTeX\ 绘图 };

\node (left text) [text width=.5\paperwidth-2cm,below

right,at={(-.65\paperwidth+1cm,1.5cm)}]{\vbox to 20mm{\hbox to 60mm{}}};

\node (right text) [text width=.65\paperwidth-2cm,below right,at={(1cm,1.5cm)}]

{\vbox to 20mm{\hbox to 60mm{}}};

\fill [decorate,decoration=footprints,

decoration={footprints,foot of=gnome},

opacity=.5,brown] (left text.south)

to [out=-45,in=135] (right text.north);

\end{tikzpicture}

\vfil

\vbox{}

\clearpage

\end{document}
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\usepackage{xcolor}
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\definecolor{ (& & )H () H(FEE)}
Hrp

(B ). HP g4 RTRr
(ER): RATUE XPR O,
HWHMA rgb, cmyk, wave %,
(Fed). HROEAHK
rgb: (0,0,0) ~ (1,1,1)
cmyk: (0,0,0,0) ~ (1,1,1,1)
wave: 363 ~ 814
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mmD1ack mmsray
pr—Y NS mmmgreen
mmmbrown lightgray
EmCyan lime

mmdarkgray gmmmagenta

-Ohve -teal

pmmorange gmmviolet

pink white
mmmDUrple yellow
-I'ed
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\definecolor{red}{rgb}{1,0,0}
\definecolor{purple}{cmyk}{0.45,0.86,0,0}
\definecolor{yellow}{cmyk}{0,0,1,0}

\textcolor{red}{red texts}\\ red texts
\textcolor [rgb]{1,0,0}{red texts}\\ red texts
{\color{blue} blue texts}\\
{\color[wavel {600} % K #

600 nm Kyt B €}

blue texts
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<HE1>I<H A K > 1< Fif 2>

= <HEI>*<FHF R >Y% + <HE2>x(1-<F 4% >%)
<HE>SIKERH> = <HE>IKESH>I<HE>
-<HiE>: e,

\textcolor{red!40}{test colorsl}\\

\textcolor{red!40!green}{test colors}\\
test colors

\textcolor{-red}{test colors}
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\colorlet{darkred}{red!50!black}
\textcolor{darkred}{dark red} dark red
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\pagecolor{ (T @ A &)}
\colorbox{(& F A &)H (X F)}
\fcolorbox{(HEHE)H (& FHE)H (X F)}

\fcolorbox{blue}{blue'!15}
{\color{red}¥ & & ¥} AN

xcolor 5 colortbl MINEMEH, nILIHITER RN, A
WAFIESH Z AU .
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\tikz <é/’£@/'%l7\/7\ >;

oREE:

\begin{tikzpicturel} [ ]
<4 Bl 1>;
<& B w2 2>;
<% B @ 4 n>;

\end{tikzpicture}
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\begin{tikzpicture}
\draw[->,thick] (-1.5,0) -- (1.5,0);
\draw[->,1line width=0.5pt,

blue] (0,-1.5) -- (0,1.5);
\end{tikzpicture}




\begin{tikzpicture}[color=blue,scale=0.5]
\draw (0,0) --(4,0) --(2,2) --(0,0);

\draw[xshift=5cm] (0,0) --(4,0) --(2,2) -- cycle;
\draw [xshift=10cm, rounded cormners] (0,0) --(4,0)
--(2,2) -- cycle;

\end{tikzpicture}
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\coordinate [label=below:$A$] (A) at (-2.5,0);

ARBR IR I

$(A) + 2%(B) - 3*(C)$

2% pgfmanual: 13.5 Coordinate Calculations
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\begin{tikzpicture}

\coordinate
\coordinate
\coordinate

\coordinate

[label=left:$A$]1(A) at (1,1.2);
[label=below:$B$]1 (B) at (0,0);
[label=right:$C$]1(C) at (3,0.5);
[label=right :$D$]1 (D) at ($(A)+(C)-(B)$);

\draw (A) -- (B) -- (C) -- (D) -- (A);
\end{tikzpicture}
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J77% 1: <coordinatel>!<factor>!<angle>:<coordinate2>

# € —%kH <coordinatel> #l| <coordinate2> MIZE B, %
Ri <coordinatel> DL <angle> fi et 26 B, WU L Lk B A B
A <factor> M A,

factor=0.5 RINZLEIH A, factor=0 K/NiL i, factor=1
TR R

IR IX SR LR BOBCA e, MM s <angle> S48

Jiik 2 B <factor> BUNEEE .
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(1) BM = BN. (2) BP V45 LAPC.
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B $B$ &£ 4 B $AC$ L, %34 $\triangle ABE$ 1 F i
$\triangle BCD$ # % & $ACS & [F M,

$AD$ 5 $BE$ X T & $M$, $CE$ 5 $BD$ X T & $N$.
KiE: (1) $BM=BN$. (2) $BP$ ‘F 4 $\angle APCS.

\begin{tikzpicture}

\coordinate [label=below:$A$] (A) at (-2.5,0);
\coordinate [label=below:$B$] (B) at (0,0);
\coordinate [label=below:$C$] (C) at (4,0);
\coordinate [label=above:$E$] (E) at ($(A)!1!60:(B)$);
\coordinate [label=above:$D$] (D) at ($(B)!'1!60:(C)$);
\coordinate [label=above:$P$] (P) at (intersection cs:
first line={(A)--(D)}, second line={(C)--(E)});
\coordinate [label=right:$N$] (N) at (intersection cs:
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first line={(B)--(D)},

second line={(C)--(E)1});

\coordinate [label=left:$M$] (M) at (intersection cs:
first line={(A)--(D)},

second line={(B)--(E)1});

\draw (A)--(B)--(E)--(A)--(D);

\draw (B)--(C)--(D)--(B)--(P);

\draw (C)--(E);

\end{tikzpicture}
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\begin{tikzpicture}
\coordinate [label=left:$A$] (A) at (0,0);



\coordinate
\coordinate
\coordinate
\coordinate
\coordinate

\coordinate

[label=right:$B$] (B) at (5,0);
[label=above:$C$] (C) at (4,3);
[label=right :$D$] (D) at ($(B)!(A)!'(C)$);
[label=left:$E$] (E) at ($(A)!(B)!'(CI$);
[label=below:$F$] (F) at ($(A)!(C)!(B)S$);
[label=1left:$H$] (H) at (intersection cs:

first line={(A)--(D)}, second line={(B)--(E)1});

\draw (A) -- (B) -- (C)-- cycle;
\draw[red] (A) -- (D);

\draw [orange] (B) -- (E);

\draw [blue] (C) -- (F);

\end{tikzpicture}
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$M$ A I $ABS B9 &,
iz $MD$ 2 $AB$ T $C$, fEix $ME$S & T $MC$,
$DE$ = $AB$ T $N$. SKiE: $MN$ F 4 $\angle CNES$.

\begin{tikzpicture}[scale=0.8]
\coordinate (0) at (0,0);
\draw [name path=0c] (0) circle (3);

\coordinate[label=above:$M$] (M) at (0,3);
\path [name path=AB] (-3,1) -- (3,1);




\path [name intersections={of=0c and

AB, name=ABO0c}];

\coordinate [label=left:$A$] (A) at (ABOc-2);

\coordinate [label=right:$B$] (B) at
\draw (A)--(B);

\path [name path=0m] (M) circle (2.

\path [name intersections={of=0c and

\coordinate [label=right:$E$] (E) at

\path [name intersections={of=0m and
\coordinate [label=below:$C$] (C) at

\coordinate (D) at ($(M)'!31(C)$);

(ABOc-1) ;

6);
Om, name=0cm}];

(Ocm-1) ;

AB, name=ABm}];
(ABm-1) ;




\path [name path=MD] (M) -- (D);

\path [name intersections={of=0c and MD, name=MDOc}];
\coordinate [label=left:$D$] (D) at (MDOc-2);

\draw (M)--(D)--(E)--(M);

\coordinate [label=below:$N$] (N) at (intersection cs: <
first line={(A)--(B)}, second line={(D)--(E)});
\draw (M)--(N);

\draw [blue] (M) -- (A) -- (E);

\end{tikzpicture}
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\begin{tikzpicture}
\draw (0,0) circle (icm);
\draw[red] (0,0)

ellipse (20pt and 10pt);
\end{tikzpicture}
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\begin{tikzpicture}
\draw[blue,thick] (0,0)

arc (0:315:1.75cm and 1cm)

-- (-1.75,0) -- ++(1.75,0);
\filldraw[draw=red,fill=blue!20,
thick] (-1.05,0) arc (0:330:0.7)
-- (-1.75,0) -- ++(0.7,0);
\end{tikzpicture}
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\begin{tikzpicture}
\draw[blue,thick] (1,1)
rectangle (3,4);
\end{tikzpicture}

\begin{tikzpicture}
\filldraw[color=blue!30!red]
(1,1) rectangle +(2,3);

\end{tikzpicture}




\begin{tikzpicture}
\draw [step=0.5] (0,0) grid (4,3);
\end{tikzpicture}
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\begin{tikzpicture}[very thick,blue,scale=0.6]
\draw [->] (0,0) --(9,0);

\draw [<-] (0,1) --(9,1);

\draw [<->] (0,2) --(9,2);

\draw [>->>] (0,3) --(9,3);

\draw [l<->|] (0,4) --(9,4);
\end{tikzpicture}
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\begin{tikzpicture}

\draw (0,0) rectangle(1,1.5);

\shade [top color=blue, bottom color=gray!50]
(0,0) parabolal[bend at end] (1,1.5) [|-(0,0);
\end{tikzpicture}




\begin{tikzpicture}

\draw (0,0) rectangle (1,1.5)

(0,0) parabolal[bend at end] (1,1.5);
\draw [xshift=3cm] (0,0) rectangle (1,1.5)

(0,0) parabola bend (.75,1.75) (1,1.5);
\end{tikzpicture}
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\begin{tikzpicture}

\filldraw [gray] (0,0) circle (2pt)
(1,1) circle (2pt)
(2,1) circle (2pt)
(2,0) circle (2pt);
\draw [red, very thick]

(0,0) .. controls (1,1)

and (2,1) .. (2,0);
\end{tikzpicture}
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\begin{tikzpicture}

\draw [help lines] (0,0) grid (3,2);

\draw [blue, thick, x=0.0085cm, y=1cm,

declare function={sines(\t,\a,\b)=1 +
0.5%(sin(\t)+sin(\t*\a) +sin(\t*\b)) ;3}]

plot [domain=0:360, samples=144, smooth]
(\x,{sines (\x,3,5)});

\end{tikzpicture}




\begin{tikzpicture}
\draw [step=.5cm,blue,very thin]

(-1.4,-1.4) grid (1.4,1.4);
\draw[->] (-1.5,0) -- (1.5,0);
\draw[->] (0,-1.5) -- (0,1.5);
\draw[red,thick] (0,0)

circle (ilcm);
\draw[red,thick] (3mm,Omm)

arc (0:30:3mm) ;

\end{tikzpicture}
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Texy node 2

Text at node 1
L |

\begin{tikzpicture}

\draw (0,0) rectangle (2,2);

\draw (0.5,0.5) node [fill=blue!40]

{Text at \verb!node 1'}

-- (1.5,1.5) node {Text at \verb!node 2!};
\end{tikzpicture}
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\tikzset{box/.style ={rectangle,rounded corners=5pt,
minimum width =50pt, minimum height =20pt,
inner sep=6pt, draw=gray,fill=blue!20}}
\begin{tikzpicturel}[sibling distance =80pt]
\node [box] {\TeX}
child {node[box] {Con\TeX tl}}
child { node[box] {\LaTeX}
child {node[box] {xcolorl}}
child {node[box] {\scshape Pgf}
child {node[box] {pgf-blurl}}
child {nodel[box] {pgfplotsl}}
child {node[box] {tikz}}}};
\end{tikzpicture}\newpage




e

H7E

\begin{tikzpicturel}[scale=5]
\filldraw[fill=red,
draw=blue !50!black]

(0,0) -- (3mm,Omm) arc
(0:30:3mm) -- cycle;

\end{tikzpicture}
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\begin{tikzpicture}

\matrix (magic) [matrix of nodes,
row 2 column 3/.style=blue]

{

8 & 1 & 6 \\

3 &5 &7 \\

4 & 9 & 2 \\

3

\draw [thick,red,->] (magic-1-1)
|- (magic-2-3);

\end{tikzpicture}
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\begin{tikzpicture}[rounded cormners, ultra thick]
\shade [top color=blue,bottom color=red]
(0,0) rectangle +(2,1);
\shade[left color=yellow,right color=white]
(3,0) rectangle +(2,1);
\shadedraw [inner color=yellow,outer color=black,
draw=yellow] (6,0) rectangle +(2,1);
\shade [ball color=green] (9,.5) circle (.5cm);
\end{tikzpicture}
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\begin{tikzpicture}[scale=0.6]
\foreach \lambda in{363,364,...,814}
\color [wave]l{\lambdal}\draw[line width=1pt]
(\lambda pt,0)--(\lambda pt, 40pt);
\end{tikzpicture}
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Q009
Q000

\tikz [shading=ball,scale=0.7]

\foreach \x / \cola in {0/red,1/green,2/blue,3/yellow}
\foreach \y / \colb in {0/red,1/green,2/blue,3/yellow}
\shade [ball color=\cola'!40!\colb] (\x,\y)

circle (0.4cm);
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\begin{tikzpicture}[scale=1.5]
\shade [top color=blue,bottom color=gray!50]
(0,0) parabola (1.5,2.25) |- (0,0);
\draw (1.05cm,2pt) node[abovel]
{$\int _0"{3/2} \!'\!'x"2\mathrm{d}=x$};
\draw [help lines] (0,0) grid (3.9,3.9)
[step=0.25cm] (1,2) grid +(1,1);
\draw[->] (-0.2,0) -- (4,0) nodel[right] {$x$};
\draw[->] (0,-0.2) -- (0,4) node[above] {$f(x)$};
\foreach \x/\xtext in
{1/1, 1.5/1\frac{1}{2}, 2/2,3/3%}
\draw[shift={(\x,0)}] (Opt,2pt) -- (Opt,-2pt)
node [below] {$\xtext$l};
\foreach \y/\ytext in {1/1, 2/2, 2.25/2\frac{1}{4},
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3/3%
\draw [shift={(0,\y)}] (2pt,0pt) -- (-2pt,0pt)
node [left] {$\ytext$};
\draw (-.5,.25) parabola bend (0,0) (2,4)
node [below right] {$x"2$};
\end{tikzpicture}
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\pgfdeclareverticalshading{spectrum}{100bp}

{color (Obp)=(red!40); color(25bp)=(red!40) ;
color (35bp)=(yellow!40) ;

color (45bp)=(green!40); color (55bp)=(cyan'!40) ;
color (65bp)=(blue!40) ;

color (75bp)=(violet!40); color(100bp)=(violet!40)}

\hskip 10mm

\begin{tikzpicturel}[shading=spectrum]

\shade [shading angle=135] (3,0) node

{\color[rgb]l{1,0,1} \fontsize{35pt}{40pt}

\selectfont Shadingl} circle (4);

\shade (7.2,-4) rectangle ++(1,8);

\end{tikzpicture}
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\pgfdeclareradialshading{rainbow}
{\pgfpoint{-10bp}{10bp}}

{color (0bp)=(bg);color (16bp)=(bg) ;
color (20bp)=(bg!70!blue) ;

color (20.2bp)=(blue!40) ;color (20.5bp)=(blue!40) ;
color (21bp)=(cyan!40) ;

color (21.5bp)=(green!40); color(22bp)=(yellow!40);
color (22.5bp)=(red!40) ;

color (22.7bp)=(red!40) ;color (22.9bp)=(red!40) ;
color (23.1bp)=(red!5)}

\hspace*{-150mm}\begin{tikzpicture}[shading=rainbow]

\shade (-20,-22) rectangle +(50,50);

\end{tikzpicture}




